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SEAMs XIV & XIV/XV; Ex-band, Virgine Contdeess

. M. 2 3 4 5 6 7 0 9 10 11 12
E 400 to -500 34,560 22 = 25 7Y T 5 g a 7 23 3
2% 5 2% 8 g de " - 17

24 = 28 - 21 - - o ), 21

TUTAL - 29 17 . = - 46

25 - 30 21 =24 - 10 - - - - 10

TOTAL - 10 - - - - 10

TOTAL 18 = 20w - 0 - & IR 8

ASH=WISE 21 =24 = 18 9 - 2 - 27

24 = 20 = 21 - - - - 21

HORIZON TOTAL - 39 17 - - - 56

-500 to. =600 32,200 22 = 25 o P 4 = & - 4 4

24 =20 — - 2 - = = - 2

TCTAL - 6 - - - i 6

25 - 30 T 30 - = £ $ 30

TOTAL - 38 - - - = 30

TOTAL S TR 42 - = - - 42

ASH=WISE 24 =20 = 2 - - - - 2

HORIZON TOTAL = 44 = - - < . 44

16 = 18 = - 40 132 .

18 = 21 10 34 265 120 - b LR

21 - 24 11 60 373 123 & 43 557

TOTAL 7O \ 2020 = 2< L < = s - 161
UTAL FUR SECTOR _ 6510000 1 o - s = = e
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SEAM; XIV & XIU/XV, Ex~band, Virgine Contd.e.e

1 2 g 4 5 o- 7 0 9 10 11 12
0 =300 to =400 TUTAL 6 U p - : = 279 = it 279
ASH=WISE 10 -21 5 22 97 139 - - 263

2y =28 S 2 - - - = 7

HORIZON TCTAL : S 24 ... 418 = - 549

400 to =500 120,000 22 - 25 15 =18 - = - - 0s - o 05

18- 29 = - 71 14 ~ = 05

Mo 20w - 09 o N = a5

24 =28 - g 41 - s = 41

HURIZUN TCTIL - - a0 99 - - 30

-500 to =600 0,960 22 - 25 O v 2 1 - 16 - - - 16

24 = 286 = - 4 - - = 4

HORIZON - TGTAL - - 28 - - - 20

TOGTAL 15 = 18 - - - 367 - - 367

ASH-WISE 10 -121 5§ " 176 107 - - 390

2 28 .7 5 158 22 - - 196

TETAL FUR SECTOR 394,000 12 31 379 576 - - 990
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SEAM: XIV & XIU/XVU; Ex-badd, Uirgine Contdeees
1 5 - 3 4 5 6 7 8 g 10 11 12 T
€ % . TOTAL 18 = 21 74 105 - - - - "
ASH-WISE 21 - 24 164 g - - - 173
24 =28 1 r - - - = 1
HORIZON TOTAL 1 239 114 - .- - - 453
ToTAL’ 15 = 18 = 1 1 : : i :
ASH-WISE 18 = 21 74 197 = 13 - - .84
21 = 24 164 52 = 2 - - 218
24 - 28 1 - - - - - 1
TOTAL FOR SECTOR 437,760 239 250 1 15 - - 5
i iy =
~ 0 & aboug 348,960 22 - 25 15 « 18 32 6 10 2 - " 48
8- 21 8§ 22 10 47 - = 84
21 - 24 1 32 2 93 41 - 169
24 - 28 16 48 2 - - - 66
28 -~ 35 28 - - - - - 28
TOTAL B2 119 24 140 41 - 395
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SEAM: XIV & XIU/XV; Ex=band,

UYirgine contdeess

o ey 3 4 5 6 7 & 9 10 12
F TOT AL 15 =18--28 25 22 - - 75
RSHSHISE - 18 & 2% .. wn 6 12 34 - 52

of 2 - 32 2 21 = 55

HORIZON TOTAL 28 63 36 55 - 182
TOTAL 15 - 18 72 65 32 = - 169

o ASH-WISE 18 - 21 B8 30 30 140 - 208
N -24 12 - .. B85 9 169 143 438

24.-28.24 __ 65 5 SR 118

. 28 - 35 28 & - e 28
TOTAL FOR SECTOR 451,520 144 245 76 329. . 167 961
% ¥ 0 & above 22 - 25 2 R sl - - - - 2
s 18 = 21 12 4 5 - = 21
21 = 24 - 2- 1 2 17 = 22

24 - 28 8 = = - - 8

: 28 = 35 27 = - - - 27

TOTAL 59 5 7 17 = 80
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SEAM: XIV & XIVU/XV; Ex-bandy, Virgin., Contdesee

Contdeeas

1 e 3 4 < 6 =y 3] 9 10 11 12

B =100"to =200 65,600 29-=28 16 - 18 = - = 62 - - 62

N 18 - 21 5 3 1 - 2 % 9

. TOTAL 5 3 g 62 - = 7

25 = 30 15 = 18 = - - 12 - - 12

18 - 21 - 9 E = = = 2

21 = 24 16 & ! - - = 23

TOTAL 20 15 10 12 - - 57

X TOTAL 15 - 10 - - = 74 - . 74

: ASH-UISE 18 - 21 9 12 10 - - - 1
3 21 - 24 16 6 1 - - - 23
HORIZON TOTR! 25 18 11 74 - - 125

-200 to =300 800 22 - 25 24 - 28 1 - - - - - ;

. HORIZON TOTAl. 1 - = ks ” A 4
: =300 to -400 29, 600 22 - 25 24 - 24 2 21 11 - - - 34
i 24 - 20 1 1 = n ~ 3 5

I

: TOTAL 3 22 1 - - - 36

” 25 30 27 = 24 - - 11 = = e, 11

TOTAL - - 11 - - % 11
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: SEAM: XIVU & XIV/XV; EX=B /D, DEVELOPED

1 2 3 4 £B i 6 25 (L 0 9 10 11 e
E  £0 & above : 22 = 25 24 - 28 2 - & * | u 2
7R MR | & “ - . 5 13

TOTHL FDR SECTUR 20,440 15

X AR R R AR AR AT S AR AR KSR FH AR AR R R R KA

¥4 K *

SEAMs XIV & XIV, EX=BAND, BARRIER ZCNE

1 2 3 4 5 6 7 g 9 10 119 12
r ¥ 0 & =hove 22 = 25 10 - 21 = - 29 - - = 29
21 - 24 10 5 40 o s L 55
TOT-L FCR SECTOR 66,4000 21 5 69 - - - 95
SEAM: XIV & XIV, EX=BAND, BARRIER FROM BATTER
1 2 3 4 5 6 7 o s 10 1 12
E %0 & bove 22 - 25 15 - 18 2 % & - v = 2
TUTAL 2 - = e 3 . 2
25 -/58 15 - 18 2 2 5 3 = & 12
18 = 21 - = - 6 - o 6
TUTAL 2 2 5 B - - 10
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MADHUBAND UNDERGRUUND BLOCKy JHARIA CuALFIELDy DIST: DH/ANBAD, BIHAR.
ST/ TEMENT SHUWING SECTOR-WISE, HORIZUN-WISE, THICKNESS-WISE AND ASH-WISE NET PROVER RESERVES
(SEAM: XV; IN=-BAND, VIRGIN. )

TABLE:NOs TA/R/D = 12 (I) | (Reserves in '000 tonnes)
T B :
B Horizon § Area § Ash Range | THICKNESS RANGE (me) b e
SECTCR ! : T4
itele's (M) {(Sq0 me ) (%) i Us5 = 09 | 009 =142 | 102 = 2.00 | 2600~ 4300} 4e00 = 6e00 | = =pgay, 7 T4
. 1 1 1 i 1 1 el 1
¥ it 2 ¥ -3 “ 4 ' 5 6 : 7 “ 8 ' 5 oo i
L 1 1 [ ] L 1 x 1 1 |
A 20 &gbove 439,520 15 - 10 3 - 57 114 - - 171
18 - 21 22 < lag 164 342 u - 558
21 - 24 1 < 4 41 379 - - 425
HORIZON TuT.L 23 34 262 835 - - 11,154 +
+0to-100 443,040 /15 1 1 20 - - - 29
_ 15 - 18 - - 95 40 - - 135
18 = 21 - 24 322 205 B - 631
21 ~.24 - ARy 263 - 7 343
HORIZON TOT AL - 42 500 500 = - |1,138 ¢
~100 to =200 45,600 21 - 24 - - 2 130 - & 132
24 - 28 - = 9 37 - - 46
HORIZGN TOT Wb - - 11 167 " - ﬂgqu .

Contdeees
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N

SEAM: XV; In-band, Virgin., Contdees.

= s arcmreverdiian 4 ; 5 6 7 8 i 10 11
B ~200 to -360 259,200 15 - 18 = - = 202 - G 202
‘ uyy 18 = 20 - = - 10 201 = - 211
v N . 217="24 "= il & 110 86 - - 209
24 - 28 2 35 32 - - - 69
HURIZON TOTAL 2 48 152 489 = = 691 ) b—
~300 to -400- 238,080 - 219 24 % : 423 = 423
Fli 24 ~ 28 g 10 76 188 - - 281
¥ griy e s 19 -9 29" 50 S & 98
3 HORIZON TOTAC e 15 A 1 e R T - BOZ .~
—400 o 5500, 133,120 . 21 = 28 - o= - % 58 3 ! 58
\ 24 - 28 - - - 287 237 - 524
i e 28 ~ 35 - - 36 - |_, 36 :
HORIZUN- TOTAL - = s e 1:y e z 618 /" il
. A TOT AL e 25 B T 2 - - 91
ASH-WISE 15 . 48 7 25 178 541 - - 75t
v ¥ O B T R T 18 760 178 - 1,300
29 = 24 - 14 231 740 87 - 1,072
. 24 - 28 7 45 T 427 488 237 L 904
2B =335 10 9 29 86 - - - 134
TOTAL FUR SECTOR 138, 7200 49 140 1013 2638 ,.m.mu " 4,342
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m,um...,lgn xr-m H?Umjﬂn CPH,@.._._J. nﬁ_ﬂﬁﬂ..-t

e e - 3 4 o] 8 9 10 11
s e ~=500 to =680 —B88y640 18 = 21 _ 4B - - 48
21 - 24 - 206 120 - 326
i . - 24 = 20 - 50 - 50
> HURIZON TCTAL 254 170 - |a24
. = - ‘ ,
.| 600 to4700 18490 21 - 24 B 102 - |102
o HURIZON TOT AL - - 102 - 102
3 | TUTAL 15 - 16 63 e % 63
ASH=WISE - 18 - 21 2,036 - - 2,036
: 21 = 24 1,047 312 - 2 1,359
g 24 - 28 364 601 - 972
20 = 35 25 5 - 130
_TLTaL.-FUR SECTCR 1,070,400 3,635 918 - 4,560
o 1N -100 to,£200 2,240 - - 24 - 28 B 16 o 16
2 HLRIZEN TUTAL | 16 - | 16 !
¥ % =200 to -30@ 134,000 15 =10 91 117 = 208
Bl £ . 18 - 21 149 260 - 409
21w iBl';
. 41 142 = 163
: HURIZUN TuTAL ¢ 201 519 - ) 8p0

Contde ee
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SEAM: XV; In=band, Virgine Contdeses

1 2 3 4 5 5} 7 0 g 10 11
E + 0 & abgve 66,560 2y = 24 - B 5 38 = W 43
> 4 24 = 20 - 2 9 12 - - 23

20 = 35 1 12 27 66 3 - - 449

TOTAL FUR SECTUR 65, 560 11 14 41 116 -5 - | 185
-~ ¥ 0 & above 301,120 21 - 24 - - 7 157 42 - 206
' 24 - 28 3 5 26 351 - - 305
28 - 35 13 15 61 390 156 = 635
HURIZON TUTAL 16 20 94 090 190 - | 1,226
10 to -3do 126,080 10 = 21 - = o 25 - - 25
£ =24 - - - 12 47 - 172
24 - 20 “ - 4 316 6 - 326
20 - 35 - - 5 299 12 - 316
HORIZON TUTAL - - S 765 65 - ' B39
-100 to =200 1,600 24 =28 = - 4 - o - 4
HORIZUN TUTAL = B 4 = . e | 4
UTAL 18 = 21 - - - 25 - - 25
L . = .
4 - 20 3 /5 34 667 6 - 715
28 - 35 13 15 66 _ 609 160 - 951
TLTAL FUR SECTUR 428, 800 ~16 20 107 1,G63 . 263 - 2,069
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- o e { 141
SEAM; XVU: In-band, Virgine Contdesess

1 2 3 4 5 6 7 S TR 10 o i

T X0 to =100 1444320 415 2 5 S o 53 S A o 174
15 =18 - - - 56 44 - 100
18 - 21 - - - 6 307 - 393

HURIZUN TUTAL 2 5 23 115 522 - \ 667\
-100 to =200 39,040 £ 0 4 5] 20 25 7 70
B - 1 1 . 2 61 11 70

HORIZUN TOTAL | 9 5 B 73 | 6 10 | 148>
=200 to -308 20,640 15 - 40 2 - 3 > 4 4 - - 13
” 16 - 21 = i 7 R 42 45 g5

)
HORIZLN TUOTAL 2 3 4 12 ; 42 45 108 >~
-300 to 400 133,920 .15 - 10 - - - - - 216 216
: 16 - 24 . - e - - 726 728
21 - 24 - - - - 33 320 361
24 - 20 - - - - 33 - 33
HURIZON TOT..L - - - - 66 1272 1330

—460 to =500~ 132,960 18 -« 21 - - - - - 203 203
21 - 24 .. = = - 89 766 025
24 = 20 - - - - 15 236 255
HURIZUN TUTAL (i - - - 70 1205 Jmmu 5
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SEAM: XVs In-band, IPRSTER ZUNE CONtdeeee
1 2 3 4 5 6 7 0 9 10 11
-8 30 & abovs 15 - 18 - - 3 11 - = 14
: 10 - 21 - - - 5 9 T 14
TUTAL FOR SECTOR 75200 - - 3 16 9 - 20 =
& * 0 2 gbole 20 - 35 - - 21 30 “a 51
TGTAL FOR.SECTUR 9,600 - - - 21 30 - A_, 59 g
5 .“_._.n 0 & abous 24 - 20 5 3 - - - . a8
20 - 35 1 6 15 68 B - 4
TGTAL FOR SECTCR 37,600 6 g 19 60 g » lepiiprz ot
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SEAM; XU, Ex=band, Virgine Contdeses

s 145 ;

1 2 3 4 5 7 8 - 10 1 12
A 22 - 25 /15 1 22 - - - 23
15« 18 - 1 2 - - 3
18 - 21 - 18 117 196 - - 331
: 27«24 8 20 13 - = 41
TOTAL mg 160 211 i~ - 395
25 = 30 £.15 = 21 = - - 21
15 - 18 1 161 100 - - 262
. 18 « 21 3 171 208 - - 382
2 94 - - 32 3 - 35
- A TOTAL 4 353 340 3 - 700
TOTAL 115 1 43 * - - "
: ASH-uISE 15 = 18 1 162 102 # 5 265
: 18 - 21 21 291 404 - - 716
L 21 = 24 14 27 45 3 - 89
HORIZON TOTAL 37 523" 551 3 - 1,114
=100 to =200 45,600 2225 4824 - 15 119 > o 134
} 21 - 24 . = 1 8 &= = 9

- ‘. - 1

- TOTAL —a: - 16 9 127 - . 143
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SEAM: XVU; Ex=bardy Virgine CONtdecesss

1 2 3 4 5 6 7 g 9 19 11 12
g T 22 =25 115 16 10 19 - - - 53
~ . 15 = 10 1 3 30 59 59 = 192

e s - 6 1 11 12" o 30

; 21 - 24 1 1 16 = - “ 17

24 - 20 = - 7 & - - 7

o TOTAL 17 28 73 110 71 £ 299

25 - 30 215 1 1 & 9 - - 27

15 = 10 - 5 7 224 166 - 402

S | 18- 21 - 2 - 22 - % 24

3 . 21 - 24 - - p 7 = - 7

; 2, G TOTAL 1 13 13 262 166 = 460

=S qoTAL . B -1 25 31 25 9 - - 9n

¢ ASHeWISE 15 - 18 5 16 45 323 225 £ 614

18 - 21 ot 19 21 01 14 - 135

21 ~ .24 . 2 43 31 - = 76

24 20 a > 37 0 7 - 45

HORIZON TCTAL | | £ 30 60 171 452 239 .. 960
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3 Ex=band, Virgins, Contdesess

SEAM: XV =
3 2 = i 4 5 B 7 g 9. 10 11 12
= ~200 to =300 259,200 /20 10 - 21 2 -~ - = ” 3 2
21 = 24 .3 - - - - - 1
- e (8 L RS A - - - - - a3
o = 22 15 - 18 - 9 6 P - L 15
48--~29 .- ? 25. 34 - - - 66
29 - 24 . 1 1 o % ¥ 3
TOTAL t.B 35 41 - - - 04
22 w25 15 - 18 e - - 155 - - 155
i . : e - e - 120 241 - = 361
: TOTAL - - - = 120 396 % - 516
25 = 30 /15 - - - 21 - - 21
15 = 10 - - = 44 " = 44
: : 10 =21 3 = . 7 = i 2
TULTAL - - - 72 - - 72
. TUTAL R - - - 21 & 4 21
. " ASH-wISE 15 = 10" = 9 =2l 199 - - 214
18 = 21 9 25 154 240 = - 436
21 = 24 2 1 1 - - - 4
“HURIZUN TUTAL 11 35 161 460 - = 675

Contdeess
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SEAM: XV; Ex=band, Virgine CONtdeeceee

$ 151 §

1 2 3 4 5 ) 7 B 3 10 11 12
B -400 to =500 133,120 20 = 22 18 - 21 - - - 70 - - 78
‘ . 21 - 24 - - - 362 - - 362

~TOTAL - - - 440 - - 440

22 =25 4821 - - B 118 - - 110

TOTHL - - - 118 » = 118

TOTAL 18 - 21 . 7 = e : R

ASH-WISE 21 - 24 - - - 362 - B 362

HORIZON TGTAL - - - 550 - - 550

TGTAL 416 25 31 25 30 - - 111

ASH-WISE 15 - 18 5 28 272 976 237 - 1518

s 18 = 21 11 46 294 1015 14 - 1300

31 = 24 20 24 163 705 - - 912

24 = 28 - - 30 8 - . 46

TUTAL FOR SECTGR 1,305600 61 129 792 2,734 251 - 3,967
& %0 to -100 800 2% - 25 15 =18 - - - - 5 < 5
HURIZON TUTAL - - - = 5 3 5
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m,-mISH XUz mX.IUm_A_.Qu .C.H.H.@u-jl UQDWQ. snnn

1 2 3 4 LS & i} g 10 1 12
C : TOTAL 15 - 10 - = - 0 - 0
ASH=WISE 13 - 21 - - J 64 & 73

21 - 24 - - 85 137 - 192

5 24 - 20 - 6 174 79 - 259

20 - 35 - 3 59 - - 62

-200 to =330 398,720 /.20 24 ~ 20 - - 30 - - 36

M@ Um -y — m - b U

TOTAL - - 44 - - 44

20 - 22 18 - 21 - - 1 - - 1

21 24 - - 48 10 - 58

24 - 28 - - 54 11 - 65

28 -~ 35 - - 1 o - 1

TOTAL - - 104 21 - 125

2 - 25 15 = 48 - - 38 - & 38

18 = 21 - - 36 & & 26

21 24 - = 42 - - 42

24 Nm - - 25 - o) 25

TOTAL ¥ 0 141 ~ - 14
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SEAM: X.C-m mXIUm_JQ‘ CHH.@HH_- gjﬂﬁ_llo.

1 2 : 3 B 5 6 7 8 AR 10 1" 12
C TOTAL 215 - L - A 52 - - 52
- - - - 702 - - 7

ASH-uyisg 1° =18 02

o 3 o = 195 = - 185

HORIZON TOTAL . - - - 949 =X A 949

-400 to =500 191,660 20 -. 22 N8 =2 - - - 177 - R P

2] w28 - - - 134 = = 134

TOTAL - - - 311 - = 311

22 =25 15 =18 - - - 92 - - 92

18 = 21 - » = 176 E = 176

: _ 21 - 24 - - SR 61 - - 61

: TOTAL - - - 329° - - 329

25 t.um .Nlam - - . - 36 - gt 36

T 15 - 18 - & > 112 2 B 143
TOTAL e W % 148 ] - 148

TOTAL LS - - - =" 36 - - 36

ASH<WISE 15 =18 - - - 204 o £ 204

, S-S 2 % i » 353 - - 353

e R o z = 195 = = e

HORIZEN TOTAL - - = - 788 - = 788

Contdeses
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1 2 3 4

10

TOTAL

ASH-WISE

e - ——

HORIZOM TOTAL

15 .- 18 et B = 434
18 = 21 _ - = i 63

D 900 to 200 2,240 20 -22 21 - 24 = - - - 15 = 15 _ 4
“ T HORIZON TOTAL - - - - 15 - 15 .
g ..|m," 0 to -300 134080 20 - 22 18 ‘=21 - 2 B 27 38 - 65
2 21 ~ 24 = = = 1 75 - 116
: S Set s b e e

" | ———— St | T S e el ——

— L —— o St

Contdeasss

ek - .. 197 300 o
TOTAL = p 76 » = 76
15 = 18 - - 210 289 = 491
.__m - Nd - WD g_ﬂ.. Nm.._
M.m = 24 - - . 41 = = 41
e ~ 341 422 e s |
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~QEAM: XVs Ex~-band, Virgine Contdesese

I 2 3 4 5 6 7 8 9 10 11 12
0. .. -600 to ~700 57,760 20 - 22 18 - 21 - - : 90 . = 90
: TOTAL - - = 90 - - 90
22 = 25 15 - 18 " - - 68 - - 68
. . 18 = 21 . - - 48 = - 48
- : TOTAL - - - 116 % = 16
26 =30 15« 18 " -. 20 N i 20
TOTAL vy ot - 28 2 % 28
T AT r——— ASH=WISE 18 - 21 - % = 138 = Rt
il e MBS St S s e B G - = e
N i e : LS » SRR R = i gy
: 15 - 18 ~ - s 1059 209 - 2147
10 = 21 = - - 220 141 - 36!
21 = 24 - - - 41 15 - b
TOTAL FOR SECT IR 576,320 . - - 2199 445 - ' 2644
E- +. f = 4 A -
t 0 & above 64,000 25 -~ 20 10 ~ 21 1 2 11 20 = = 2
TOT AL 7 10 40 7 - - 128
=730 18 - 21 4 6 10 - - - 20
TOTAL 4 & B = -
A 10 20

Contdecse
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Seam: XV, Ex-band, Virgin,

nﬂﬂﬁﬁ_-o.

1 2 3 4 5 6 7 0 9 10 11 1 S
F + 0 to ~100 1905400 - 20-=22- — 10 = 21 - - - 6 - e 6
24 — 28 - | X 50 - - 50
24 = 28 - - - 1 = = 1
TOTAL - " = 57 = - 57
22 - 25 18.:29 = 2 7 151 - = 160
B 20 - 24 - “ g 209 - = 217
24 ~ 20 - - - 81 - - 01
TOTAL - 2 15. 441 - - 480
e 25 =30 1p - 29 & 4 43 70 - - 197
TOTAL 18 = 21 - 6 50 227 - . 203
e ASH=WISE 21 - 24 - - 8 259 ~ = 267
24 = 20 - - = 2 82 = u 82
HORIZON 7ITAL - 6 50 560 = - 632
~130 to 200 1,600 22 - 25 21 - 24 - - 3 = N " B
HORIZON TOTAL : - - 3 i = - 3
3 TOTAL 18 - 21 16 23 S0 301 - - 440
foict RS 7 7 43 307 - & 441
24 - 20 5 0 8 120 - - 101
TOTAL FUR SECTOR 192,000 30 38 166 808 e - 1,042

Contd, es



*eennn]

929} - £29 £00lL 1ol

lgi - Ll 4% vZ = L2

ZoLL - {ef ] L9 lz = 8l

gve - 1z zz¢e gl = st ST = 22

602 - - 602 Miol

L2 - - Lz A A

Zgl - - FAz]) Lz - 8l 7z - 02

o = = c 101 ¥

e 5 = € bz = 12 0z / 00b ‘c0% 00L- 03 0 F

7217 - ag 8hh 7101 NOZTYHOH

z12 - £ 681 pT = |2

LEZ B [ $Z2Z bz - 8l 35 IM—HSY

GC - - 1 gl = Gl 10l

L2 ~ - Lz Y101

L2 - - LZ Lz = g1 OoE = &2

LSY - =l Lzh liol

A4 - 5t 4 68 1 v = L2

0Lz - el L6l bz = 8l

Gg - - GE Bl = 5l G2 = 22 09c‘Gyl ©Snroqe ¥ F n
A bl oL g t e z l

eseepqyn] *utbatp fpueq=-x3 IAX W3S
s zok *



mmhzn X.C.m mX-IUm—_l_ﬁ_w _caoﬂ.ﬂu..j_o no:.ﬁﬂloon

1 2 3 B 5 S S 10 1 12
G TOTAL 15 - 18 - 322 21 = 343
ASH=WISE 18 < 21 . 829 455 - 1284
- 64 147 ~ 211
HORIZON TOTAL - 1215 623 - 1838
TOT AL 15 = 18 - 357 21 - 378
ASH=-WISE 18 = 23 - 1053 468 - 1521
21 = 24 - 253 170 - 423
TOTAL FOR SECTOR 521,760 - 1663 659 - 2799
H * 0 & above 14,080 22 - 25 15 = 18 = = 9 9
18 - 21 - - 13 - 13
TOTAL - - 22 = 22 Bt . ]
25 = 30 18 « 21 - - 54 - 54
TOTAL 1 - 54 ~ 54
TOTAL 15 - 18 - - E] - 9
FOR 18 = 21 - - 67 - 67
ASH=-WISE
HORIZON TOTAL - - 76 - 76
+ 0 to =100 42,400 20 - 22 /15 - 27 65 i 102
._uc‘_l.-——l - M.ﬂ @m - ADN

Uﬂjﬁ.n_l.-.
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SEAM: XV; Ex-Dand, Yirgine Contdeses

: 165 ;

1 2 3 4 5 8 J 10 11 12
H 25 - 30 /.15 1 - - - 4
TOTAL 1 - - - 4
TUTAL A48 7 21 3 1 82
ASH-WI SE 15 - 10 - - 40 - 40
10 - 21 = - 26 - 26
HORIZUN TOTAL 21 97 11 148
-200"to ~300 20,640 22 - 25 15 2 5 16 8 35
Am -_— JQ 2 - m D Aa
: TCTAL 2 5 21 14 46
25 - 30 25 2 2 2 - 8
15 - 10 - 2 37 - 39
TOTAL 2 “ 39 - 47
TUTHL L15 4 T i B 2
ASH=WISE 15 - 10 - 2 42 6 50
HORIZON TOTAL
4 9 60 14 g3
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SEAM: XVU3 Ex—band, Virgine CONtdesse

s 167

1 2 3 4 5 6 7 8 9 10 11 12
- 500 to =600 11,040 22 = 25 15 = 18 - s - - 72 - 72
HORIZON TOTAL - - - - 72 - 72

TOTAL L5 1" 16 40 180 198 1232 1597

Fsslrse 15 - 18 - - = 34 835 216 1085

18221 o o= - 9 4590 - 499

TOTAL FOR SECTOR 293,600 11 16 40 143 1523 042D 317

SEAMs XU3 EX~BANDs BARRIER ZONE

1 2 3 4 5 6 7 8 - 10 11 12
A 4+ 0 & above 44,000 25 - 30 15 - 18 2 7 2 - - - 11
18 = 21 6 3 T 12 - - 28

2 - 24 - ‘ 33 s - - 42

TOTAL FOR SECTOR 44,000 8 12 42 19 - - 31
B 40 & above 25 - 30 16 = 418 - - 4 15 8 = 2%
TUTAL FOR SECTOR 7,200 - - 4 15 8 = 27

E 10 & above 25 -~ 30 18 w21 - - - 38 - - 38 3

TUTAL FOR SECTOUR 9,600 - - - 38 - - 38

Contdsces
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MADHUBAND UNDERGROUND BLOCK, JHARIA
STATEMENT SHOWING SECTOR-WISE, HORIZON-WISE,

THICKNESS-WISE

COALFIELD, DIST: DHANBAD, BIHAR
LAND ASH-WISE NET PROVED RESELVES

s 169 3

SEAM : XVI IN-BAND, VIRGIN :
TABLE: NO. TA/R/D =13 (I) ( Reserves in '000 tonnes)

SECTOR “. Horizon m Area M Ash mmummm THICKNESS RANGE (m) e
' R.L.'s.(m.) i (8q.m.) : (%) ~ 7 0.5-0.9710.9-1.2 11.2-2.00: 2.00-4,00 14,00-6.00 7 —6.00 i TOTAL

b 2 : g Ao g T LeCOERNS B g ) TG

A + 0 & above 6%9, 680 18 - 21 16 4 - - - - 20

21 % 24 44 24 19 - - — 37

24 - 28 29 38 150 2 - - 219

28 = 35 70 96 344 452 - - 962

T 35 - 7 2 - = i 9

HORI:ON TOTAL 639,680 159 169 515 454 — o 1,297

24 - 28 - 49 82 - - - 131

20 = 95 49 108 37 20 - - 214

HORIZON TOTAL 49 175 119 20 - - 363

-100 to =200 7,680 28 - %5 - - - 18 - e 18

=7 55 -- - -- 5 ™ — 5

HORIZON TOTAL e T s - 23 - o 23
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-r 8 =

Seam No., XVI; In-band, Virgin., Contd....

1 2 3 4 5 6 7 8 9 10 1
B -100 to =200 354,080 21 - 24 1 2 e a5 i e 3
24 - 28 7 30 - - - - 37
28 - 35 63 80 143 4 e - 290
g 35 - e 202 142 e - 244
HORIZON TOTAL 71 195 345 146 g 2 674
=200 to 300 237,440 28 - 35 - —— - T - - 7
=~ 35 - e 204 468 - - cre
HORIZON TOTAL - | -- 204 475 - - 679
=300 to =400 214,560 18 - 21 J— - 13 s -— s 1%
B el - = 25 - - - 25
24 - 28 - - 37 - - - 37
28 = 35 - - 172 37 - - 209
=7 35 - — 156 85 - - 241
HORIZON TOTAL - e 403 122 - - 525

Contdesd's
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Seam No., XVI; In-band, Virgin. Contd....

i 2 3 4 6 /i 8 9 10 11
® _200 to -300 342,720 24 - 28 - 14 7 b - i o1
28 - 35 25 36 31 - - e 92
d. 25 126 107 145 s e - %78

HORI 40N TOTAL 151 157 18% i oy G 91
! =300 to =400 124,160 28 - 35 - 17 108 — — A “ 25
‘ —35 13 16 100 - - - 129
JORION TOTAL 13 3% 208 - — - 54
¥ =400 to =500 147,840 18 - 21 e - 25 — - S 25
| 21 - 24 - . 23 - -— - 23
24 - 28 - it - - - 37
28 - 35 17 18 o3 - - - 118
o s 23 6 - - - - 29
HORIZON TOTAL 40 24 168 - _— - 232

Contd.eee.e.
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Seam No. XVI; In-band, Virgin. Contd. 177 +

2-° 3 o > 6 7 8 3 10 11
+ 0 & above 11,840 15 = 18 - 3 p) —— - _ 6
18 - 21 3 1 —— - e mawn 4
HOrIZON TOTAL  4 <k 3 = N e 4
4+ 0 to -100 98,720 15 - 18 - 5 5 - - .= 8
18 - 21 e 20 11 - — el 49
21 - 24 p) 6 14 o I P 23
24 = 28 7 8 21 - - - 26
28 - 35 3 6 13 e -y = 22
HCR1ZON TCTAL 31 45 62 o = L 1383
-100 to =200 72,520 18 -~ 21 4 - o J— — ik 4
21 - 24 12 14 1 e — - 27
24 - 28 13 21 19 o o e e 53
28 = 35 - 1 9 - — - 10

HORIZON TCTAL 29 36 29 et o e wp\\\w

Contd...
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mmwa No. XVI, In-band,

Virgin, Contd...

1 2 3 4 5 6 7 8 10 11
BARRIER 7QNE
A 1+ 0 & above 85,600 21 - 24 5 — st - b o 5
28 = 35 5 5 17 116 - — 149
x\\ ) _
u _ - 6 1 - - - 20
= d 35 4 :
TCTAL FOR 3ECTCR 85,600 15 18 49 123 - - 205

Contds..
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MADHUB AND UNDERGROUND BLOCKy JHARIA COALFIELD; DIST: DHiNBAD, BIHAR o
ST, TEMENT SHOWING SECTOR-WISE, HMORIZON-WISE, THICKNESS-WISE, VeMe=WISE, AND ASH-WISE NET PROVED RESERVES
(SEAMg XVI, EX=BAND, VIRGINe)

THBLE: NOs TA/R/D - 13 (E) (Reserves in '000 tonnes)
™Horizon I Threa 1 1 s 1 THICKNESS RANGE (me) 1
=y Vs Me Range Ash Range | f . i
SECTOR e Latss (M — e t : - «*  TOTAL
R. lieL . (me) }(Sce me ) @) ) {05 - 709 1 0,9 - 142 | 12 = 2,00} 2,00 - 4,00 400 - 6,001—7 = -}
EE 2 S 4 i 5 : &) ok 7 _ B i 9 P10 Py 12
L i i 1 1 1 1 1 L L (]
: L0 & above 586,430 20 <22, 21 - 24 " o 1 - - -
24 - 28 17 47 15 = . - 49
TOTAL 17 17 16 - - - 50
22 125 24 - 24 9 10 10 - == = 29
24 - 28 45 30 192 365 - - 640
28 - '3b - . 116 = = = 116
.._.OJ_.;._.. 54 43 318 365 - - 705
25 - 30 16 = 21 19 4 13 - & - 36
21 = 24 27 19 63 - - = 109
24 - 208 43 13 40 = - = 86
28 - 35 4 8 = ~ % = 12

: TOTAL 93 44 116 = - - 253
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SEAMs XVI3 Ex-band, Virgine Contdees.

183 3

M TUTHL v iy NSRS, 71 23 46 13 - 5 = a2
ASH=WISE 24 - 28 61 45 g - - - 153

28 - 35 1 24 44 - = = 69

HURIZEN TUTAL 05 159 G0 - & i 104

10U to =200 7,600 22 = 25 34 - 20 3 Z = - - & 3

28 35 - o - -~ L oy, G

IORIZUT TOTAL 3 & - - - - g

TOTAL 18= 24 19 4 13 - - - 36

ASH=WISE 21 24 59 75 07 = & A 221

24 - 28 169 157 250 365 ‘- - 941

T W 5 30 160 - B - 203

TUTAL FOR SECTOR 235,040 252 274 510 365 - - 1,401
8 * 0 & aboye 20,160 25 - 30 24 - 28 g . - S - 2 8
20 s 12 - - - == e 12

HEGRIZOM TCTAL 20 — - - = " 20

+ 0°te =100 229,120 22 = 25 o (7 104 - - - - - 104

; - 24 = 20 24 2 e - - = 26
TUTAL 128 2 /- = =S - 130

nc:.ﬁa.l'..
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SEAMs XVUI; Ex=bandy Virgine ConNtdesees

1 2 3 4 D o 7 0 9 10 11 2

B ~200 to -300 237,440 /.20 28 = 35 - - 9 - = - g

TuTHL - - 9 - = e g

20 = 22 20 < 35 - - 104 - - o= 184

._|.r__ﬂ.r:l - - AOD - — = 104

22 = 25 21 - 24 - 21 - - = 29

24 - 20 1 1 16 - o = 3

20 - 35 32 7 03 - = = 105

TUTAL 33 g2 120 - - - 245

TUTAL 21 - 24 - 0 21 = = = 29

HSH=WISE 24 = 20 1 14 16 - - ot 34

28 = 35 32 70 276 - - - 370

HURIZUN TuTal a3 82 5 = - - 430

-330 ta =400 214,560 /20 21 - 24 - - 14 - - - 14

24 - 20 - 1 62 - i = a3

20 - 35 - - g4 s = o 94

TUTAL - 1 170 - = = 17

gﬂﬂﬂo.llnnt
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SEAM: XVIg Ex=Dand, Yirgine CONtdeses

s 187

an

s > ; 4 5 6 7 0 10 T S L
B 20 - 22 15 - 18 = = 3 = = o

21 - 24 = = 5 > " 2

TOTAL - - 27 = = 27

22 -25 15 - 18 -~ - 51 - - 51

TUTAL - - 51 o - 51

TOTA 15 - 10 - - 54 - - 54

ASH-WISE 10 =21 - - 19 - = 19

- 21 - 24 RN 11 L2 ) 5

s _M.QHN_... .ﬂ_l.._.—.._._ml ) - ._ i — 25 Om
TUTA 15 - 10 = ). e 5 % A

KSH=WISE 10 - 21 - - 40 ~ & 48

21 - 24 157 123 110 - . 350

24 =28 145 45 109 o - 29

26 - 35 125 73 579 - - 777

TUTAL FGR SECTOR 14027,30 . 429 - 28 914 4 - 1,502

Contdaesese
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SEAMs XVI; Ex-band, Virgine Contdesess

: 189

2 3 4 5 6 7 0 10 11 12
22 - 25 21 =2k o 92 4 - - 104

24 - 28 - 3 5 - = )

20 - 35 - - 1 - - 1

TCTAL g 95 10 - - 113

“TOTAL 2% - 24 117 143 4 - - 264

ASH=WISE 24 - 20 5 22 7 = = 34

20 - 35 - - 12 - - 12

HORIZ: N TUTAL 122 1645 23 - - 310
300 t) ~400 116,000 - /20 24 - 20 i 30 . g S
28 = 35 - { 2 — = 3]

e T e 7 8 = 55

20 =92 . 2 =24 16 - - - - 16

24 - 20 6 56 " - - 62

20 - 35 - 1o 16 - - 26

TOTAL 22 66 16 - - 104

ToOTAL 2T - 24 16 - - - = 16

ASH-WISE 26 - 20 14 95 - - . 109

|
20 - 35 - 16 10 o - 4
HORIZON TOTAL 30 111 10 - 159

Contdgea
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SEBM: XVUI; Ex=band, Virgine contdaeess

g- - =-500to -600 72,960 /.20 28 - 28 21 - - - o 21
- TOTAL 21 - - - - e 21
20 - 22 24 - 28 27 6 - - - & 33
TOTAL 27 G = v 2 = %3
22 - 25 15 - 18 - o 23 - o - 29
18 - 21 - - = - - . ™,
21 - 24 - - - - A = pa
24 - 28 1 = = = B 2 -
TOTAL 1 - 29 - - - 30
18 - 21 - : = - = @ 5
- (e = - = = — = -
24 - 28 49 =3 - - L i 55
HORIZON TOTAL 49 (5] - - . - = B4
TOTAL 15 - 18 - - 62 - i o - 62
ASH=WI SE 18 = 21 - 2 i 37 — “x e uM/
21 - 24 140 230 53 - = - 423 ~-
24 - 28 128 158 7 - - - 293
28 - 35 11 16 30 - - - ST
TOTAL FOR SECTBR 685,120 . 278 406 189 e . s 874
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SEAM: XVI; Ex-band,

Vizgine Contdeeess

: 193 3

1 2 3 4 5 7 8 g 10 1 12
- R 25 - 30 29 - 24 24 58 13 - ~ 95
24 - 28 7 112 469 % ~ 588

28 - 35 ; 68 157 - - 225

TOTAL 3 238 639 - - 908

TOTAL 21 - 24 24 78 13 - = 19

ASH-WISE 24 - 28 7 380 720 & - 1,107

28 - 35 - 92 157 - - 249

HORIZON TOTAL TOTAL 31 550 890 - i L

G *'0 to -100 40,960 [0 %6 =28 - 3 3 - = 6
28 - 35 o - 2 - - 2

TOTAL . 3 5 2 = 8

20-=-22 — 24—+ 78 5 4 24 . % 28

28 = 35 ; = 7 . - 7

TOTAL - 4 31 - = 35

22 = 25 24 - 28 2 - 56 = - 56

Contdsasa
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SEAMs XVI; Ex--band, Virgin, Contdeesves

1 gl 3 4 5 6 7 0 g 10 11 39
G + 0 to-100 274,720 TOTAL 21 - 24 - 4 - - * = 4
A9H=WISE 24 = 28 - 21 a7 39 - - 147

28 =35 - - 250 310 - - 560

HORIZON TOTsL - 25 D97 349 - - 711

-10U to =200 256,320 20 - 22 28 = 35 - 2 (i 3 - - 12

TOTHL - Z 7 3 = - 12

22 - 25 21 = 24 14 - e 44 - - - 76

24 - 28 a3 31 69 - - - 133

26 - 35 12 30 97 39 > - 186

TOTwL 59 a7 210 39 - - 395

25 - 30 24 = 28 & > 3 2 L - 1

TOTAL - = 60 e X 4 sp

Contdees.
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g 197 2
SEAM: XVI3 Ex=band, Virgine CONtdeesss

1 2 3 4 5 6 7 8 9 10 11 12
H =100 to =200 9,600 22 = 25 18 = 21 = - - . - = g
HORIZUN TOTAL g = = & - L g

=300 te =400 29,920 22 = 25 24 = 20 - 24 - - - o = 24

HOTTZON TUTHL 24 e - - 2 ) o4

=400 to ~500 43,200 22 = 25 24 = 20 35 - - - S = 35

HORIZuN TOTAL 35 - 5 - = =S 5

TUTAL 15 =18 15 7 15 - - - 35

ASH=WISE 18 - 21 37 19 - - a - 56

21 - 24 - - - - - ~ =

24 - 28 59 - - - - - 59

18 - - - 57

31l
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SEAM: XVI A/AB (In-band, virgin Contdeess-)

1 2 3 4 5 6 7 8 10 14
A TOTAL 15 - 10 - - 2 197 - 199
B w2 5 o 73 217 = 300
ASH=WI SE 4
21 = 24 5 s 107 360 = 377
24 - 20 2 3 157 373 = =35
20 ~ 35 9 69 176 159 a 413
35 11 24 20 - = x
TOTAL FOR SECTLR 690,000 32 109 542 1,306 3 1,979
= SEAMs- X VI AZAB (IN=BANJ,; JEVELUPED)
1 s 3 4 A 6 W i 10 11
A * 0 - above TUTAL 15 = 10 - = - 6 & 6
ASH-uISE 18 - 21 L - - 105 5 105
: 21 - 24 N - - 179 - 179
24 - 28 - . - 161 < 161
_ 28 - 35 e T - 38 = 38
TUTAL FLR SECTCR 184,800 R % = 489 . 489
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SEAMs XVI AZAB (In-band, virgin Contdeesss)

¢ 203 g

1 2 3 4 5 6 7 ) 10 ”
B + 0 tc =100 300,160 15 = 10 .. - - 45 - 45
18 - 21 - - 2 82 - B4

21 - 24 - - 25 61 - 106

24 = o8 - - 21 300 - 329

26 - 35 - 3 50 M4 - 772

7 35 - 3 - - = 3
HURIZUN TUTAL = 1 sle 1,230 - 1,339 3

" 40 to -200 344,000 21- =24 - 1 1 - b 11

24 - 20 - - 63 - ~ 63

20 - 35 G 10 209 8 - 227

ﬂ 35 - Ta 1908 075 - LB6

HURTIZUN TUTAL - 24 400 403 - 07

-200 to -300 223,200 21 - 24 3 2 - - - 5

24 = 20 5 3 5 = - 13

20 = 35 B 10 47 - - 74

7 35 - - 61 577 B 630

HURIZEN TCTAL 17 23 113 577 - 730
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SEAMs XVI A/ AB (In=band, Virgine Contdesssss) :+ 205 :

1 2 3 4 5 ) 7 i) ] 10 1
c _100 to - 200 306,160 24 - 20 16 34 107 g N6 s 6 - 619
20 - 35 - - 91 0 ¥ ¥ =
7 35 - - 120 - - o 120
HORIZON TUTAL 16 34 350 304 ? B s
<300 to =300 359,520 21 - 24 - - 3 - = & 3
24 - 20 ++ 1 22 9 - - 32
20 - 35 - - 14 53 - - 129
7 35 - - . Q- 025 - - 44075
HO(IZCN TUTAL + A 311 927 - - 1,238 7
-300 to -400 = 160,000 24 - 28 - 18 1 - - - 19
28 - 35 - 6 150 - - - 156
7 35 - - 43 246 - - 204
HuRIZUN TUTAL , . = 24 199 246 i = 460

Notes ++ Negligible gontde ses
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SEAM: XUl A/ (In-band, Virgine Conteees)

1 2 3 : ¥ ¢ ¢ ; 9 10 11
2 -200 to -300 61,440 21 - 24 5 20 46 133 - - 201
24 - 20 95 49 66 149 - - 359
Hur  ZON TaTAL 85 &9 114 202 e = j RMQ \\
=300 t =400 136,640 21 = 24 : 5 2 - - - 7
24 - 20 4 1 20 o g 42
0 = 35 - - - 146 - - 146
7 35 - - - 305 - - 305
W iZON oTAL 4 6 11 559 - - 00
=410 to 500 97,920 ~7 15 s e 2 o ¥ 1= ioa
HO! TZON TOTAL = = - 429 = - 4./
=50 fo =600 104,160 I..\ 45 " ol 379 3 ) = 775
HURIZON TOTAL - - 372 3 - - 375
~600 to -700 29,440 20 - 35 - = 1 - - - 1
7 3 - - 19 75 - - 94
HORIZON TUGT AL = = 20 75 Re % 95
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SEAM: XVI A/AB (In-band, Virgin.gontde.ss)

A G

1 = 3 4 5 6 7 8 9 10 11
TOTAL 21 - 24 44 36 - ~ - » 80
ASH-WISE 24 - 28 60 39 - = 2 - 90 ;
28 - 35 152 82 54 - - B 7.3
7 35 45 " - - & * 45
TATAL FOR SEC "R 443, B4Q 301 157 5¢4 - - = 51°
H + - g s
Yo & abovs 148,800 15 - 18 = = - 25 55 = 8]
18 - 21 1 2 o 34 79 16-7 291
3 a1 .. 24 o AR 4 56 404 126 591 :
HOR "ZON TOTAL 1 3 10 115 530 2 93 959 .
Y 0 to ~100 3,920 15°- 18 s 3 10 65 106 - 264
18 ~ 21 2 3 3 4 8 34 134
21 - 24 4 3 3 1 4 45 60
HORLIZON TOTAL 6 9 16 70 270 79 458 .~
=1°0 to-200 875640 15 = 10 = = = 11 51 -~ e
18 = 24 = - - 27 27 — 54
21 - 24 3 4 13 52 5 = 77
24 = 20 - 1 7 30 - ~ 46
28 - 35 = & 4 01 - - s
7/ 35 - - - 26 = - 26
HORIZON TOTAL 3 5 24 235 U3 - 350
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SEAM: XVI A/AB (In-band,

Virgin contdes .u

4 2 3 4 5 6 s o E 10 11
H ~200 to ~Z00 147,520 18 = 21 - - 7 - 19 - 19
21 - 24 2 - - - 317 - 317
24 =20 - - - 105 119 - 3
20 - 35 " - - 107 - - 107
7 35 - - - 30 = = 39
HOR “ZON TUTAL = - - 330 455 - 768"
=30 to =400 116,400 24 - 20 = - - 243 330 - 573
H{ 70N TOTAL - - - 243 330 - m\y i
~40( to -500 27,040 24 - 28 - - - a1 43 - 12
HORLZON TOTAL = - i o1 43 = Sa o
% TOTAL 15 - 108 - 3 10 101 292 - 406
ASH-WISE 10 = 21 3 5 g 65 213 201 496
2 - 24 7 7 20 109 730 171 1,044
24 - 20 - 1 7 547 492 = 1, 047
206 - 35 = - 4 160 - - 152
7 35 - = - 64 - - 64
TOTAL FOR SECTER 1U 16 50 1,074 14727 372 3,249
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SEAM 3 XVI A/AB (contdes.)

1 2 3 4 5 6 7 8 9 10 11 12
A TOTAL 15 =18 =~ - 20 32 - - 52
ASH-WISE 18 - 21 22 17 174 37 - - 250
21 - 24 S 38 170 39 - = 252
24 - 28 26 55 88 79 » - 248
28 - 35 54 8 20 3 - - 85
. Iompwcz TCTAL 107 118 472 190 - 2 8e7
+ 0 to -100 208,160, 20 21 -24 - ++ - - - - A
TOTAL = ++ = - - - s
1B =21 - 4 % = & 2
29 = 24 = 2 - 2 < 4
TUTAL - 6 - i & 11
20 to ~100 18 -21 2 1 11 - - - 14
24 = 2% . 2 7 12 - = x o
28.-28 B 3 . S e ' 3
28 - 35 1 - - - - - 1
TUTAL 13 L 24 - - - 48

cortdseses
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SEaM; XVI A/AB

3 2 3 4 5 o 7 3 5) 10 11 12
TOTAL /15 - - . G4 3y = o3

ASH-WISE 15 - 18 = - 33 147 - - 180

18 = 21 34 30 251 81 - Y 165

21 = 24 20 61 197 41 - - 319

24 - 28 55 61 90 79 - - 205

: 28 - 35 55 3 20" 3 - - 16

TUTAL FOR SECTUR 097,040 164 160 591 305 - - 1,300

SEAMs XVI A/AB, (EX~BAND, DEVEL" "ED)

1 2 3 4 5 5 7 0 ) 10 11 12
A + 0 & shove 184,000 20 =22 * 24 = 28 . = - - 3 - - 3
TOTAL - - - 3 » % g

92 = 267 18 = 29 - 1 - - - 1

21 = 24 - - 19 G - - 25

24 w28 - - 1 106 - - 197

TCTAL = - 21 112 . - 1as
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SEAMs XVI A/AB (Contdeess)

= I 3 4 5 6 7 B g 10 11 12
B 25 - 30 J15 - = - - 53 - - 53
15 =18 = 1 62 73 - - 136

16 - 21 = - 60 - - = 60

29 = 24—~ - 50 53 - - {d3

24 - 20 = - 50 173 - - 231

TUTAL & 1 238 352 = - 591

TUTAL 7 = " a = i =

ASH=WISE 15 = 18 - 1 62 73 - - 130

18- 24 8 6 72 - = - o7

21 ~24 5 8 TS| 88 * L 191

24 = 28 4 3 101 368 - & 473

28 =35 = - 37 = - - 37

HORIZON - TETAL 15 18 362 582 - - 977

-100 to -200 306,240 J20 21 -24 - 7 - - - = 7

24 = 98" = 29 10 ~ - - 59

TOTAL = 36 10 & - g 46

20=22 21~28 5 4 = - - - 12

24 - 28 31 50 £l - - - 90

TOTAL 16 57 9 e - - 102

Contdeees
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SEAMs XVI A/AB (Contdeese)

221

1 2 3 4 5 6 7 8 10 11 12
3 TOTAL 21 -2 4 - - i v "
ASH.yise 24 - 28 50 38 293 B - 381
HORIZON TOTAL TOTAL 54 38 293 - - 385
=300 to -40D 224,960 J20 21 -24 7 3 - - = 10
i TOTAL 7 3 . = = o
20 - 22 21 - 24 Nw_m 15 2 - - 57 o
24 - 28 42 31 63 - - 136
TOTAL 82 46 65 - - 193
22 » B2t - 24 38 21 - - - 54
24 - 28 15 & - & : 15
TOTAL 48 21 - ? " A8
TOTAL 21 - 24 86 39 2 - = 121
ASH-UISE 24 - 28 57 34 63 - - 15%
HORIZON TOTAL 137 70 65 - - 272
<400 to -500 3,250 20 =22 21 =24 - 1 - - - 1
TOTAL - 1 = -

Contdes s«
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SEAMs XVI A/AB (Contdeessss)

s 223

2 1 4 5 6 7 9 10 11 12
=100 to - 210 246,720 /20 18 - 21 - 1 21 B = C 26
21 - 24 3 4] 10 27 - - 46
TOTAL 3 7 31 a1 - - T2 =
Zz0 = 22 18 - 21 - - 12 %] - - 15
21 -24 14 26 65 177 - - 282
24 -- 28 15 4 /| 48 - 68
28 .~ 35 2 - ~ - - - 2
TOTAL 31 30 78 228 - - aa67
22 - 25 21 - 24 1 . 16 38 - - 55
24 - 28 21 i0 24 38 - - 93
TOTAL 2z 16 % 6 - . 148
TOTAL 18 - 21 -~ 1 33 7 - - 41
i -~ 5 g _ o
PN 18 91 242 383
24 - 28 36 14 29 86 - - 161
¥ 28 - 35 2 g - - - - % 2
HORIZON TOTAL 56 47 149 335 = - 587
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SEAM s XVI &/AB (contdesss)

1 o 3 4 5 6 7 8 10 11 12
C -300 to =400 160, 800 /. 20 21 - 24 27 10 - - - 37
24 - 28 2 35 - - - 37

TOTAL 29 45 - - - 74

20 - 22 21 - 24 2 1 - = - 3

24 - 28 -~ 56 98 - - 154

28 - 35 - 5 25 = - 30

TOTAL 2 62 123 - - 187

TOTAL 21 - 24 29 1 - - = 40

ASH-WISE 24 = 28 2 91 90 - - 191

28 ~ 35 - 5 25 - - 30

HORIZGN TOTAL 31 107 123 - - 261

-40p to-500 191,200 [ 20 21 - 24 34 - - - - 34

24 - 28 26 41 - - - 87

26 - 35 - 7| - - = 1

TOTAL &0 42 - ~ - 102

20~ 22 21 - 24 8 57 - - - 65

24 - 28 - 2z - - - 2

28 = 35 - 21 = s i 21

TOTAL 3] ) - - - 88
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SEAMs XVUI A/AB (Contdes-s)

1 2 3 4 5 6 7 8 9 10 11 12
= TOTAL 21 - 24 8 - = = A o 8
ASH=WISE

HORIZON TOTAL 8 - - ~ o = 8

-200 to - 300 44,4960 /20 18 w29 1 14 15 - - - 40

21 - 24 2 - 17 2 - - 21

TOTAL 13 14 32 2 - - 61

22 = 25 21 - 24 4 ~ - - - -« 4

TOTAL 4 - B - - - 4

TOTAL 18 = 21 11 14 15 - - - 40

ASH=WISE 21 - 24 6 - 17 2 - - 25

HORIZON TOT..L 17 14 32 2 - - 65

=300 to - 400 132,160 /20 18 = 21 6 12 4 - - - 22

21 = 24 - - 43 33 - - 82

24 - 28 - - 35 211 - - 246

TOTAL 6 12- 88 244 - = 350

20 - 22 24 - 28 - - 5 - - - 5

TOTAL - = 5 - - % 5
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SEAMs XVI A/AB (Contdeses)

1 2 3 4 5 & 7 8 9 10 11 12
D TOTAL 18 - 21 17 26 19 - - - 62
ASH=WISE 21 = 24 58 - 66 35 - - 159

24 - 28 65 48 154 233 - - 500

28 = 35 - 40 - | - - 40

TOTAL FOR SECTOR 417,280 140 114 239 268 - . 761
F_  *0aabove 356, 800 /20 24 - 28 6 6 . - - - 12
28 - 35 40 21 = - o - 61

TOTAL 46 27 = - - - 73

20 - 22 21 - 24 2 - = = = = 2

24 - 28 15 7 - - - - 22

28 - 35 32 15 - - - = 45

TOTAL 49 20 - - - - 69

22 - 25 21- =24 18 5 2 o = Y 25

24 - 28 55 2 -~ - < a 57

28 - 35 20 1 - - x = 21

TOTAL 93 8 2 - = = 103
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SEAM: XVI A/AB (Contdee.s)

1 2 i 3 4 5 6 7 8
F TOT AL 21 - 24 37 12 14 63
: 5 2
PR 24 =28 158 2 1 188
28 — 35 98 53 19 170
TOTAL FOR SECTOR 371,040 290 87 44 421
SEAM: XVI A/#B (EX-BAND, BadRIER ZONE )
1 2 3 4 5 6 2 8 12
F -
- 0 & above 25 = 30 24 - 28 7 14 - 21
28 - 35 3 20 19 42
TOTAL FOR SECTOR 43,200 10 34 19 63
G ¥ 0 & above 23,040 25 = 30 24 -~ 28 - 7 - 7
28 - 35 5 7 13 25
HORIZON TOTAL 5 14 13 32
¥ 0 to -100 238,040 22 = 25 21 - 24 23 - - 23
24 -~ 28 97 8 = 105
28 = 35 6 19 13 38
TOTAL 126 27 13 166
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SEAMs XVI A/AB (contdeess)

t 233

1 2 3 4 5 6 7 0 o 10 11 12
G TOTAL 21 - 24 30 27 - - - - 57
ASH-WISE 24 = 20 31 - - - - - 31
#ORIZON TOTAL 61 27 - - - - 88
TCGTAL 21 - 24 63 32 - - - - g5
ASH=WISE : :
. - 28 5 - - - - 4%
TOT AL 24 2 174 22 150
_ 28 - 35 19 31 36 - - - 86
TOTAL FOR SECTOR 344,340 256 85 % = 5 e e L S
H +
. U & abova 148,000 22 - 25 15 - 10 ~ - ~ = 9 - 9
TOTAL = - - - 5 - -
25 - 30 15 - 16 - 1 3 29 370 75 4B¢
16 - 21 1 2 0 49 334 - a9
TOTAL 1 3 41 70 712 75 800
TOTAL 15 - 18 - 1 3 29 387 7 495 g
ASH-WISE 10 - 24 1 2 g 49 334 - 39¢
HORIZON TUTAL 1 3 11 70 721 75 6ot
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SEAM: XUI #/AB (Contdess)

s 235

W -100 to —200 59,600 /20 /A5 2 “ - v 2
15 - 10 9 79 27 - 119

18 - 21 - 1 - - 1

20 - 22 - 5 1 - - - 3

15 - 18 6 15 % 3 27

10 - 21 = 10 - - 11D

TUTAL 7 25 - - 36

TR 15 = 18 G 2 - B 11

ToraL 6 2 % . 2

25 - 30 %5 = 18 1 - B - 5

TOTAL 1 - - - 5

TUTAL /15 3 - 2 = 6

ASH-1WI SE 15 - 18 22 96 27 - 158

10 - 21 B 11 - - 11

HURIZON TETAL 25 107 27 - 175
-200 to =300 133, 760 /20 /15 2 - - - 5
TLTAL 2 - - - 5

Contdegess
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SEAM: XVI /4B (Contdeses)

s 237 :

1 2 3 4 5 ¢ g 9 10 11 12
H -300 to =400 116,400 25 = 30 18 - 21 = ~ 1 20 = - 21
29 - 24 " L 6 155 140 - 301

TOTAL R o 7 175 140 - 322

TUTAL 16 - 21 & 1 9 20 - - 30

ASH=WI SE 21 - 24 A L 10 261 207 - 486

HURIZUN TLTAL - 1 27 209 207 ~ 524

-400 to =530 27,040 22 - 25 21 = 24 = - 2 12 51 - 65

TOTAL - - 2 12 51 - 65

25 = 30 21 - 24 & = % 56 - = 56

TLTAL - - e 55 ; 5 o8

TOTAL 21 - 24 - X 2 60 51 - 121

ASH=U1 SE

HORIZON TOTAL TCTAL - - 2 60 51 - 121

FOTAL /15 5 3 3 - - - 11

ASH - wisg 19 =10 13 21 60 232 66 5 75 1066

10 - 21 5 13 . 42 262 33 4 - 656

21 - 24 - - 20 567 25 8 o 045

TLTAL FuR SECTCR 572,000 23 37 125 1061 1 75 2,570
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SEAMs XVI B8 (In-band, Virgne Contdeesss)

s+ 239 :

1 2 3 o S 6 = 8. 9 10 11
8 + ) .»m S

- 0 to =100 78,240 24 - 28 - - 177 = - 186

28 - 35 = - - 58 - - 58

HURIZON TOTAL - - 9 235 - - 244

-100 to-"00 335, 360 28 - 35 = 3 135 608 - - 746

735 - 10 234 10 - - 254

HORIZUN TUTAL = 13 369 616 = = 1000

~200 to -300 173,600 24 - 28 8 7 - - - - 15

28 = 35 67 81 64 - - - 212

7 3 ‘- 10 2 2 = = 12

HURIZON TLTAL 75 98 66 - il - 239

=300 to=-400 62,720 24 - 28 33 - e - -~ - 33

28 - 35 u;_ - - - - i ul_

HUREFZON- TCTAL 64 = = - = > 64
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SEAM: XVI B (In-band, virgin contde.s.)

. 241

1 2 3 4 5 6 7 B 9 10 11
D -404 to - 500 4,000 20 - 35 4 - - - ~ - 4
HORIZON ToTik 4 - - - = = 4
=500 to - 600 57,040 20 = 35 60 = - = = ~ 60
HURIZUN TCTAL 60 - - - - 60
TORAL 20 ~ 35 72 - = - - “ 72
ASH=WI SE
TUTAL FOR SECTR 72,640 72 - = = = s 72
F 4 : : :
'U & aobode 439,350 2245 - 8 61 = - “ a9
15 - 10 - 67 90 - - - 157
10 - 21 - 20 03 5 = = 116
29 = 24 - 5 140 54 - - 199
24 - 20 - 5 195 47 - . - 247
26-=38 = 15 96 - - - 113
735 - 1 - - - - 1
HURIZUN TOTAL - 129 665 108 - - 9712
F + 0 to ~100 6y 240 24 - 20 - - 11 SR = — 11

HURIZON TOTAL

11 -

- 11
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wmrgu XCH B AHJIUES&Q .C_m-H.Du..D nﬂjﬁano. lv

1 2 3 4 5 6 7 8 10 11
-100 to -200 4,320 20 - 35 4 - - - ~ - 4
HORIZON TCTAL 4 -~ - -~ - 4
24 - 28 1 21 29 - - 51
8 - e i =
| e B 8% 199 - - 4w
TUTAL FLR SECTUR 429,200 170 243 229 - - 642
SEAM : XVI B (In-band, PARRIER ZONE)
1 2 3 4 5 6 7 8 10 11
F + : _
- 0 & above TOTAL 28 - 35 - 3 21 - -~ 24
ASH-WISE 735 13 9 = - - 22
TuTAL FUR SECTUR 26,080 13 12 21 - - 46
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SEAM; XVI B(Contdess)

: 245

Y 2 3 4 5 7 8 10 i1 317
A 25 - 30 18 = 21 21 96 - 117
21 = 24 6 35 - 41
TOTAL 29 131 - 158
TOTAL i = 23 21 185 - 206
HORIZON TOTAL L 32 260 - 292
-100 to =200 4,480 22 - 25 21 - 24 2 - - s
TOTAL 2 - .o 2
25 - 30 15 = 18 4 - - 4
TOTAL 4 - - 4
TOTAL 15 - 18 4 - » 4
ASH=WISE 18 = 21 % 5 " .
21 - 24 2 = 3 2
HORIZON TOTAL 5] - - B

Contdes .
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SEAM: XvIB (contdees)

247

1 2 3 4 5 6 7 10 11 12
B -200 to -300 129,760 20 - 22 15 - 18 7 S = = 7
18 - 21 9 ~ = = g

2 = 2RE5Z 1B = 5 - 13

24 = 28 7 - - 7

TOTAL 36 - - 36

22 - 25 157 - 18 12 7 - - 19

18 » 21 3 9 - % 12

21 - 24 2 3 " s 5

24 - 2B 31 13 - = 44

26 - 35 16 = - - 16

TOTAL 64 32 - -5 96

TOTAL 15 - 18 19 7 - - 26

ASH-WISE 18 =-21 12 9 - - 37

21 - 24 15 3 - - -

24 - 286 38 13 & - 51

28 - 35 = 16 - & " t

HORIZON TOTAL 100 32 s - 132
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